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f the following sequences are in
etic progression ?

6, 10, 14, @1y 15, 12, 9, 6,
| i s
e 18, @Giv) B B JAS°
e n term of a sequence is (2n — 3), find
ts fifteenth term.

3,§fﬂ:|ep‘htamofanAP is (2p + 3); find the A.P.
4. Find the 24" term of the sequence :

BRI 6, ............. i
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-----

.....
.....

a term of me ‘sequence :
IR i ?

Find the common difference and 99 term of
the arithmetic progression :

o i | 1
74 9 5> 11 Q0 e :
10. How many terms are there in the series :
ROGE . 10, 13 il 148 ?
RO, 153 1356 con. iin. foiienannss Isd: 2
.3 1
(111)4,1,14, ...................... W 18
B WhCh term of the AP. 1.4, 7, 10, ooveneeeeeens
15 52 ?

12. If 5® and 6™ terms of an A.P. are respectively
6 and 5, find the 11" term of the A.P.

25 WSy seprescnts 2™ term of an A.P.,
L, + s — t; = 10 and ¢, + t, = 17, find its
first term and its common difference.

If the first term of an A.P.
common difference is 4.

is a and its

1, + 15 — 13 = 10
:=>(a+d)+(a+4d)—(a+2d)= 10
a+ 3de 10 ;.2 1

Le.

2 b b

7. Find the 50" term of the sequence N

P enece |

1nels 2
S e
T
- b (a + d)*’*‘;ﬁﬁ‘
ie. i
Solve the two eqnatlons t@
a and d
14. Find the 10™ term from the e
4,914, G ot 254.

15. Determine the arithmetic
3 term is 5 and 7% term is 9.

16. Find the 31% term of an AP Wi W
is 38 and 16™ term is 74.

17. Which term of the series :

EF T8 -FS el is —81 ?
Can any term of this series be zero ?
If yes, find the number of terms.

18. An A.P. consists of 60 terms. If the firs
the last terms be 7 and 125 respectively,
the 31° term.

19. The sum of the 4™ and the 8™ terms
A.P. is 24 and the sum of the 6% and the
terms of the same A.P. is 34. Find th}
three terms of the A P.

20. If the third term of an A.P. is 5 and
seventh terms is 9, find the 17th term.

2 DEZTECS

&‘W!nohwtmofA.P S5 15,25,
130 more than its 315 term ?

4. Find the value of p. if x, 2x + p and 3x + 6
are in A.P.

S. If the 3™ and the 9" terms of an arithmetic
progression are 4 and —8 respectively, which
term of it is zero ?

6. How many three-digit numbers are divisible by

87 ?

7. For what value of n, the n'" term of A.P.
B3 G, 67, ......... and n™ term of A.P. 3, 10,
A are equal to each other ?

8. Determine the A.P. whose 3™ term is 16 and
the 7% term exceeds the 5% term by 12.

9. If numbers n — 2, 4n — 1 and 5n + 2 are in
A.P., find the value of n and its next two

terms.

10. Determine tha ’
K2+ 4k + 8, 2K% + 3k +
are in A.P.
B
11. If a, b and ¢ are in A.P.
(i) 4a, 4b and 4c¢ are in AP
(i) a+ 4, b + 4 and ¢ + 4 are in .
12. An A.P. consists of 57 terms of Whﬁé

is 13 and the last term is 108.
45% term of this A.P.

13. 4 term of an A.P. is equal to 3 times its fir
term and 7" term exceeds twice the 3™ te;
by 1. Find the first term and the
difference.

14. The sum of the 2" term and the 7% (ﬁm‘&
an A.P. is 30. If its 15% term is 1 less%
twice of its 8™ term, find the A.P.

15. In an AP, if mt terrnlsnandnmtermls
show thatltsr‘htermls(m+n—n)

16. Which term of the A.P. 3, 10, 17, o
be 84 more than 1ts 13th term ? -
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